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1
1.1
1.1.1
Sample _5.F8B
1.1.2
@
(]
o
Lo
N
3
o H
TS
200
()
()
()
o
(]
=
3500
100 400
4 300
¢))
1.1.3
(kN/m*)
y a 22.50
yt 18.00
y sat 18.80
yc 24.50
y w 9.80
1.1.4
a 1.000
( ) Ko 0.500
( ) Ko 0.500

3 800

FORUMS8




1.1.5

1.1.6

1.1.7

1.1.8

case (m) (m)
1 0.000 0.000
(kN/m*)
0.000
0.000
0.000
() )
0.0 0.0
0.0 0.0
0.0 0.0
0.0 0.0
ock | N/mm 24.00
oca| N/mm’ 8.00
oca| N/mm’ 8.00
oca| N/mm’ 6.00
oca| N/mm’ 7.20
T al | N/mm’ 0.390
T a2 | N/mm* 1.700
Ta N/mm? 0.900
T oa| N/mm’ 1.60
T oa| N/mm’ 1.60
Ec N/mm? 2.50 x 10°
—_ — SD345
osa| N/mm’ 180.00
( ) osa| N/mm’ 180.00
osa| N/mm’ 200.00
( Es Ec ) n E— 15.0

FORUMS8




1.1.9

1.1.10

1.1.11

1.1.12

(cm) (cm)
10.0 10.0
10.0 10.0
10.0 11.0
10.0 11.0
—_— 10.0
T 2 250 (kN)
= 100.0 ( )
B = 90.00 ( )
B =100.00 ( )
D
@
€))
®
®)
©)

ga = 300.0  (KN/m?)

FORUMS8




1.2
1.2.1
@
case No
1
@
case
1 T (2 ) 250(kN)
2
©))
case No No
1 1 o
2 2 o

FORUMS8




1.2.2 (case-1)
Q
Q
ie}
N
r— !
| !
| !
| !
| !
| !
! !
! !
! !
e . [l e—|
@
w=0.400 x 24.50 = 9.80 (kN/m?)
@
w=0.400 x 24.50 = 9.80 (kN/m?)
©)

w=0.400 x 24.50 = 9.80 (kN/m?)

@
a
= 1.000 x 0.000 x 22.50 = 0.00 (kN/m?)
= 1.000 x 2.500 x 18.00 = 45.00 (kN/m?)
Swd = 45.00 (kN/m?)
&)
= 0.000 (kN/m?)
= 0.000 (kN/m?)
= 0.000 (kN/m?)
> qd = 0.000 (kN/m?)
©))

W= 45.00 + 0.00 = 45.00 (kN/m?)

FORUMS8




pi = Kox (qd + Yoxy a+ Zoxy )

Ko : = 0.500
= 0.500
qd = 0.00 (kN/m?)
Yo = 0.000 (m)
ya: = 22.50 (kN/m®)
y o = 18.00 (KN/m®)
Zo0 (m
@
Zo (m) p (kN/m?)
p: 2.500 22.50
p- 2.700 24.30
Ps 6.100 54.90
Pa 6.300 56.70
&)
Zo (m) p (KN/m?)
p: 2.500 22.50
p- 2.700 24.30
P 6.100 54.90
Pa 6.300 56.70
v H X y M
(KN/m) (KN/m) @m @m (kN.m/m)
43.12 2.150 92.71
29.40 0.200 5.88
29.40 4.100 120.54
193.50 2.150 416.03
150.48 1.627 24476
-150.48 1.627 -244.76
295.42 635.15
@
x= = 2.150 (m)
Vv
e = {; -X=0.000 (m)

FORUMS8



@)
Me

ql

qr

=3XVx e= 0.00 (KN.m/m)
SV 6 X Me
=St = 68,70 (V)
SV 6 X Me
=S - = 68.70 (V)
- ql T
—qlr T o 6870 (RN/m)
B 2
1- T
e+ T T o 6870 (RN/m)
B 2
T -
gl : BOX
gr : BOX
ql’
qr’

FORUMS8



1.2.3

(case-1)
17 2 250 (kN)
6 000
100. OkN 55. OKN
/// \\ 8
\\ // o]
Y N s N
A
=l 1E
=l E
= | B
=l E
= | B
=l E
&= [ R—— =
2XPX (1+1)
Pl+i = ————
2.75
(P1+i) X B
Pvl = —
2XD + Do
PI+i : BOX (kN/m)
P : (kN)
i s
Pvl : (kN/m?)
D : = 2.500 (m)
Do : (m)
B .

2 X 100.0 X (1 + 0.300 )

2.75

94.55 X 0.900
Pvl = = 16.36 (kN/m?)
2 X 2.500 + 0.20

% # Pl+i =

= 94,55 (kN/m)

2 X 25.0 X ( 1+ 0.300)
2.75
23.64 X 1.000

Pvl = = 4.55 (kN/m%)
2 X 2.500 + 0.20

Bl # Pl+i =

= 23.64 (kN/m)

FORUMS8



@
(kN/m?) (m) (m)
16.36 0.000 3.900
4.55 0.000 0.000
)
wl = 16.36 (KN/m?)
p = Kox wl = 0.500 x 16.36 = 8.18 (kN/m?)
€))
wl = 16.36 (kN/m?)
p = Kox wl = 0.500 x 16.36 = 8.18 (kN/m?)
\% H X y M
(kN/m) (kN/m) O) @ (kN.m/m)
1 70.36 2.150 151.28
2 0.00 0.000 0.00
31.09 1.900 59.07
-31.09 1.900 -59.07
70.36 151.28
@
=M
X=——= 2,150 (m)
2V
B
e = E; -X=0.000 (m

FORUMS8




- 10 -

@

>V x e= 0.00 (KN.m/m)
SV 6 X Me 2
T R X 1.000 = 16.36 (kN/m?)
B B
IV 6 X M
- 222 ) X 1000 = 16.36 (kN/m)
B B
—ql T
ql + 2T~ = 16,36 (/)
B 2
1 - T
ar + =~ = 16,36 (kN/m)
B 2
T -
gl : BOX
gr :© BOX
ql’
qr’

FORUMS8
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1.2.4 (case-2)
2
10. OOKN/m=
-
Qo
o
(i)
N
s ] i ——————— |
=N =
=1 =
=N =
=N =
— | |
=N =
=i =
=N =
== | e ——— =
@
p = Kox wl = 0.500 x 10.00 = 5.00 (kN/m?)
@
p = Kox wl = 0.500 x 10.00 = 5.00 (kN/m?)
H \ M
(kN/m) (m) (kN.m/m)
19.00 1.900 36.10
-19.00 1.900 -36.10
0.00
@
6 X M
al = =+ ( . ) X 1000 = 0.00 (kN/m)
qr = 0.00 (kN/m)
, gqr — ql T
ql” = ql + — = 0.00 (kN/m®)
B 2
1- T
ar’ =aqr + — T x Z = 0,00 (kN/m)
B 2
T
ql BOX
qr BOX
ql’
qr’

FORUMS8
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1.3

No

FORUMS8
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1.4
1.4.1

1.4.2

No X(m) Y(m)
1 0.000 3.400
2 1.950 3.400
3 3.900 3.400
4 0.000 1.700
3.900 1.700
6 0.000 0.000
7 1.950 0.000
8 3.900 0.000

FORUMS8




- 14 -

1.4.3

1.4.4

1.4.5

A=1.0 x

I = 1.0 x "/ 12

No A(m) 1(m)
1 1 2 0.4000 0.0053
2| 2 3 0.4000 |  0.0053
3| 1 4 0.4000 |  0.0053
4 4 6 0.4000 0.0053
5| 3 5 0.4000 |  0.0053
6| 5 8 0.4000 |  0.0053
7 6 7 0.4000 0.0053
8 7 8 0.4000 0.0053

E=2.50 x 107 (kN/m?)
=1.00 x 10° (1/ )

@ 1
(kN/m) (kN/m) (kN.m/rad)
6 -1 -1 0
7 0 0 0
8 0 -1 0
) -1: , 0:
) 2
(kN/m) (kN/m) (kN.m/rad)
6 0 -1 0
7 0 0 0
8 -1 -1 0
) -1 , 0:
€)
CASE CASE
1 -1 1
2 -1 -1 1
3 -1 -2 1

FORUMS8
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1.5

G ¢cS—

G 'GcS—

—b2.2

—67.0

¢S

—b2.2

—67.0

0 °L9-

0 °L9—

6 "901—

0 v.i-

0'VvL f—-

6 901

T 'v6—

/ O "Pel—
|
o

FORUMS8
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6 "99—

6 99—

—66. 9

-81.7

‘89

—66. 9

-81.7

L 18—

L I8—

8 '8¢1—

T 96—

8 '8¢1

—94. 3

-1 —58.0

58.0

94.

G 9TT1—-

6 "991—

FORUMS8
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v vs—-

v vs—

—54. 4

—69. 2

6%

—54. 4

—69. 2

G 69—

G 69—

o
N . 0 0
© g < ©
vooR
|
6 "90T— , T O 7el
/
0Tl | ARL
O VL f——- ———d 16—
i
6 901 , T 0 '¥Pel—
[0e} © //
ol o
o 10
I | < o0
0 ©
[0g}

FORUMS8
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1.6
1.6.1

M kN.m -66.9 68.4 -66.9
N kN 68.2 68.2 68.2
b cm 100.00 100.00 100.00
h cm 40.00 40.00 40.00
d cm 30.00 30.00 30.00
di cm 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00
cm’ 11.51 0.00 11.51
o’ 0.00 11.83 0.00
D22 @250 D— 0— D22 @250
cn’ D— @0—— D— 0—— D—
15.484 E— 15.484
D— @0— D22 @250 D— 0—
o’ D—@¢— | D—0— | D—O0—
E—— 15.484 E—
X cm 10.849 10.823 10.849
oc N/mm? 5.15 5.27 5.15
os N/mm’ 136.45 139.95 136.45
o ca N/mm? 8.00 8.00 8.00
o sa N/mm’ 180.00 180.00 180.00
_— — 2 2 2

FORUMS8




- 19 -

M kN.m -66.9 -5.3 2.6 -81.7
N kN 138.8 153.5 121.6 168.2
b cm 100.00 100.00 100.00 100.00
h cm 40.00 40.00 40.00 40.00
d cm 30.00 30.00 30.00 30.00
di cm 10.00 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00 10.00
cm’ 9.13 0.00 0.00 17.65
cm’ 0.00 0.00 0.00 0.00
D22 @250 D22 ©250 D22 ©250 D29 @250

cm’ b—@— | D—@—| D—@—| D—@—
15.484 15.484 15.484 25.696
D13 @250 D13 @250 D13 @250 D13 @250

cm’ b—@— | D—@¢—| D—@¢—| D—@—
5.068 5.068 5.068 5.068
X cm 12.208 53.385 76.826 14.481
gc N/mm? 5.11 0.59 0.40 5.41
gs N/mm? 111.61 -3.87 -3.70 86.93
o ca N/mm? 8.00 8.00 8.00 6.00
0 sa N/mm? 180.00 -200.00 -200.00 180.00

2

2

3

2

FORUMS8



- 20 -

M kN.m -66.9 -5.3 2.6 -81.7
N kN 138.8 153.5 121.6 168.2
b cm 100.00 100.00 100.00 100.00
h cm 40.00 40.00 40.00 40.00
d cm 30.00 30.00 30.00 30.00
di cm 10.00 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00 10.00
cm’ 9.13 0.00 0.00 17.65
cm’ 0.00 0.00 0.00 0.00
D22 @250 D22 ©250 D22 ©250 D29 @250

cm’ b—@— | D—@—| D—@—| D—@—
15.484 15.484 15.484 25.696
D13 @250 D13 @250 D13 @250 D13 @250

cm’ b—@— | D—@¢—| D—@¢—| D—@—
5.068 5.068 5.068 5.068
X cm 12.208 53.385 76.826 14.481
gc N/mm? 5.11 0.59 0.40 5.41
gs N/mm? 111.61 -3.87 -3.70 86.93
o ca N/mm? 8.00 8.00 8.00 6.00
0 sa N/mm? 180.00 -200.00 -200.00 180.00

2

2

3

2

FORUMS8
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M kN.m -81.7 80.0 -81.7
N kN 94.3 94.3 94.3
b cm 100.00 100.00 100.00
h cm 40.00 40.00 40.00
d cm 29.00 29.00 29.00
di cm 11.00 11.00 11.00
d2 cm 11.00 11.00 11.00
cm’ 21.04 0.00 21.04
o’ 0.00 14.00 0.00
D29 @250 D— 0— D29 @250
cn’ D— @0—— D— 0—— D— @
25.696 —_— 25.696
D— @0— D22 @250 D— 0—
cn’ D— @0—— D— 00— D— 0——
E—— 15.484 E—
X cm 12.924 10.774 12.924
gc N/mm’ 5.66 6.46 5.66
gs N/mm’ 105.52 164.00 105.52
o ca N/mm? 6.00 8.00 6.00
o sa N/mm’ 180.00 180.00 180.00
_— — 2 2 2

FORUMS8



- 22 -

1.6.2

S
Tm—bxd Ta
b = 100.0 (cm)
S d Tm T a L
(kN) (cm) (N/mm?) (N/mn?* ) (m
138.8 | 30.00 0.463 0.780 2 0.000
1 96.1 | 30.00 0.320 0.390 2 0.600
T -96.1 | 30.00 0.320 0.390 2 0.600
-138.8 | 30.00 0.463 0.780 2 0.000
-68.2 | 30.00 0.227 0.780 2 0.000
T -47.1 | 30.00 0.157 0.390 2 0.600
T 58.0 | 30.00 0.193 0.390 2 0.600
94.3 | 30.00 0.314 0.780 2 0.000
68.2 | 30.00 0.227 0.780 2 0.000
T 47.1 | 30.00 0.157 0.390 2 0.600
1 -58.0 | 30.00 0.193 0.390 2 0.600
-94.3 | 30.00 0.314 0.780 2 0.000
-165.9 | 29.00 0.572 0.780 2 0.000
1 -116.5 | 29.00 0.402 0.390 2 0.580
T 116.5 | 29.00 0.402 0.390 2 0.580
165.9 | 29.00 0.572 0.780 2 0.000
T
L

FORUMS8
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1.7
Sc=— X ta X b X d
Ta : (N/mm?)
: = 1000 (mm)
d : (mm)
Sc (N)
S h=S§ - Sc
S h: N)
S : Q)
.15 X S h X a
Awreq =
ogsa X d X 10
Awreq : (cm®)
a : (cm)
osa : (N/mm?)
1000 (mm)
p= = - - ; (k)
TR R X 8T F X2
p : Im
Aw = As x nx p
Aw : (cm?)
As : 1 (cm?)
n 11 /7))
As n p a Aw
(cm2) c7) ) (cm) (cm2)
1.267 2 1.000 25.0 2.53
1.267 1 2.000 25.0 2.53
1.267 1 2.000 25.0 2.53
1.267 2 1.000 25.0 2.53

FORUMS8
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Sc S*h T T a Awreq Aw
(kN) (kN) (N/mm*) (N/mm*) (cm’) (cm’)
0.463 0.780 0.00 —
0.320 0.390 0.00 —
2.53
0.320 0.390 0.00 —
0.463 0.780 0.00 —
0.227 0.780 0.00 —
0.157 0.390 0.00 —
2.53
0.193 0.390 0.00 —
0.314 0.780 0.00 —
0.227 0.780 0.00 —
0.157 0.390 0.00 —
2.53
0.193 0.390 0.00 —
0.314 0.780 0.00 —
0.572 0.780 0.00 —
56.5 60.0 0.402 0.390 3.30 NG
2.53
56.5 60.0 0.402 0.390 3.30 NG
0.572 0.780 0.00 —

FORUMS8
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1.8
1.8.1
X M
(KN/m) | (m) (kN.m/m)
4.300 x 0.400 x 24.50 42.14 | 2.150 90.60
3.000 x 0.400 x 24.50 29.40 | 0.200 5.88
3.000 x 0.400 x 24.50 29.40 | 4.100 120.54
4.300 x 0.400 x 24.50 42.14 | 2.150 90.60
1/2 x  0.200 x 0.200 x 24.50 0.49 | 0.467 0.23
1/2 x  0.200 x 0.200 x 24.50 0.49 | 3.833 1.88
14406 | —— 309.73
@
= 0.000 (kN/m?)
= 0.000 (kN/m?)
= 0.000 (kN/m?)
qd = 0.000 (kN/m?)
@
a
=1.000 x 0.000 x 22.50 = 0.00 (kN/m?)
=1.000 x 2.500 x 18.00 = 45.00 (kN/m?)
wd = 45.00 (kN/m?)
©)
V=1o( 0.000+ 45.00) X 4.300 = 193.500 (kN/m)
4. 300
X = = 2.150 (m)
M=VXX=416.03 (kN.m/m)
(1) [ CASE-1 1]
Ko = 0.500
Ko = 0.500
1) [ case-1]
= 0.000 (m)

FORUMS8
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(1) [ CASE-1 ]

1) [ case-1 ]
\% H M
(KN/m) (KN/m) (KN.m/m)
144 .06 E— 309.73
193.50 S 416.03
337.56 0.00 725.75

FORUMS8
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1.8.2
(1) T7-250 2
[1]
D
v X M
(kN/m) (m) | (kN.m/m)
16.36 x  4.300 70.36 2.150 151.28
4.55 x0.000 0.00 0.000 0.00
70.36 — 151.28
2)
p=0.500x 16.36 = 8.18 (kN/m?)
p=0.500x 16.36 = 8.18 (kN/m?)
H Y M
(KN/m) m) | (kN.m/m)
8.18 x 3.800 31.09 1.900 59.07
8.18 x 3.800 -31.09 1.900 -59.07
0.00 e 0.00
3)
v H M
(kN/m) | (kN/m) | (KN.m/m)
70.36 — 151.28
— 0.00 0.00
70.36 0.00 151.28
®
[2]
D
1.8.3
(D @
v H M
(kN/m) (kN/m) (kN.m/m)
[ case-1 ] 337.56 0.00 725.75
337.56 0.00 725.75
X = —%%} = 2.150 (m)
e = {3 - X = 0.000 (m)
Me =%V x ex= 0.00 (KN.m/m)

FORUMS8
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Y 6 X Me
+

q = — BZ = 78.50 (kRN/m®) = qa=300.0 (kN/m®)  OK
= 78.50 (kRN/m%)
(2 -1 -1
\Y H M
(kN/m) (kN/m) (kN.m/m)
[ case-1] 337.56 0.00 725.75
[1] 70.36 0.00 151.28
407.92 0.00 877.04
- BT OVERINCE I & OMR LR
ZM
X=——7= 2,150 (m)
zV
B
e = 5 X = 0.000 (m)
Me =XV x e= 0.00 (kN.m/m)
- MR B
2V 6 X M
q = B + B c = 94,87 (kN/m?) = qa=300.0 (kN/m®)  OK
= 94,87 (kN/m%)
1.8.4
ga = 300.0 (kN/m*)
(KN/m?)
No
V (kN) H (kN) M(KN.m) e (m) gmax gmin
1 (€)) 337.6 0.0 0.0 0.000 78.502 78.502 | OK
2 -1 -1 407.9 0.0 0.0 0.000 94.866 94.866 | OK

FORUMS8
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2
2.1
@
|
o
o <H
o
o)
200
o) o)
o )
o @
a2 a2
|
o
<
104 3 500 104
4 300
4 500 1 000 4 500
q+o.oo
o)
o
0
a
o)
o
)
[a2]
Kv=39700. O
10 000
10 000
®
y = 18.00 (kN/m*)
No X (m) Y (m)
1 0.000 0.000
2 4.500 2.500
3 5.500 2.500
4 10.000 0.000

FORUMS8
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©)
o ck | N/mm? 24.00
Ec | N/mm? 2.50x 10°*
o ca | N/mm? 8.00
— SD345
o sa | N/mm? 180.00
n e 15.0
1.000
y ¢ | kN/m® 24.50
2.2
A(m) y(m) A y(m) A Y@ lo(n")
1.7200 | 3.6000 6.1920 22.2912 0.0229
1.7200 | 0.2000 0.3440 0.0688 0.0229
1.2000 | 1.9000 2.2800 4.3320 0.9000
1.2000 | 1.9000 2.2800 4.3320 0.9000
0.0400 | 3.3333 0.1333 0.4444 0.0001
0.0000 | 0.4000 0.0000 0.0000 0.0000
5.8800 | —— 11.2293 31.4684 1.8460
Wrimf& XA = 5.8800 (m?)
Wi —kE— A > |k
Yo = 20y = 1.910 (m)
A
I =X@A-y)+ZTo—VYels ZA = 11.8692 (m*)
2.3
@
A = 5.8800 (m%)
w=A yc= 5.8800x 24.50 = 144.06 (kN/m)
@
(m) ) (kN/m) (kN/m)
1 0.000 4.500 0.00 193.50
2 4.500 1.000 193.50 193.50
3 5.500 4.500 193.50 0.00

FORUMS8
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®
Q=9 B =10.00x 4.300 = 43.00 (kN/m)
q (kN/m?)
B BOX m
Ls = 1.000 (m)
= 0.000 (m)
= 0.000 (m)
L= 1.000 (m)
O Q- = 43.00 (/m)
( ) = 4.500 (m)
2.4
@
M (kN.m) (m
Mmax Mmin Mmax Mmin
1 483.0 0.0 5.000 0.000
@
S (kN) (m
Smax Smin Smax Smin
1 138.3 -138.3 3.000 7.000
®
1
M S
(m) (kN.m) (kN)
0.000 0.0 0.0
1.000 48.6 89.0
2.000 164.1 135.1
3.000 304.4 138.3
4.000 426.5 98.7
5.000 483.0 0.0
6.000 426.5 -98.7
7.000 304.4 -138.3
8.000 164.1 -135.1
9.000 48.6 -89.0
10.000 0.0 0.0

FORUMS8
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2.5

2.5.1

483.

2.5.2

—138. 3

FORUMS8
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2.6
€Y
Mmax
BOX BW cm 430.0
BOX BH cm 380.0
cm 40.0
cm 40.0
cm 40.0
cm 40.0
cm 20.0
cm 20.0
cm —
cm —
M kN.m 483.0
di cm 10.0
D13- 17
Asl cm’ 21.539
d2 cm 10.0
D13- 19
As2 cm’ 24.073
d3 cm 11.0
D13- 19
As3 cm’ 24.073
d4 cm 11.0
D13- 17
As4 cm’? 21.539
X cm 31.740
n — 15.0
gc N/mm? 0.20
os N/mm? 31.21
oca| N/mn 8.00
osa| N/mm 180.00

FORUMS8
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— SD345
o sa | N/mm’ 180.00
n — 15.0
Ko — 0.500
Y kN/m* 18.00
Qv | kN/m? 10.00
ho Qv vy m 0.556

FORUMS8
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3.1.2
() BEH
1 LA (Hs+ho) (Hs*+2 - ho - Hs)
MA=—+ vy +Ko- -+ < LAY + . 1A%
2 12 * n 3+*n 2
1 3. 200 ( 1.000+ 0.556)
= —+18.00+0.500 - { - + < 3,200°
2 12+ 1.032 31,032
( 1.000°+2 + 0.556 + 1.000)
.+ 3.200%}
2
=  159.61 (kN.m)
LA® (Hs+ho)
SA=—-+9y <Ko~ { -+ < LA + (Hs’+2 +ho + Hs) » LA}
2 3+n n
1 3. 200° ( 1.000+ 0.556)
= — -18.00+0.500 - { o - 3,200
2 3+1.032 1.032
+ ( 1.000°+2+ 0.556« 1.000) + 3.200}
= 145.97 (kN)
(2) FETEH
1
MB = YRR « Ko » (HB*+2 » ho + HB) « LB’
1
= 18.00 » 0.500 « ( 4, 100°+2 « 0.556 + 4.100) = 0. 800
= 30.77 (kN. m)
1
SB = PR « Ko+ (HB*+2 - ho - HB) + LB
1
= 18.00 « 0.500 « ( 4,100+2 « 0.556 + 4.100) - 0.800
= 76.92 (kN)

FORUMS8
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3.1.3

M kN._m 74.9
S kN 54.4
b cm 100.0
h cm 40.0
d cm 30.0
n — 15.0
Asr cm’ 15.554
mm D25 @250
D— @ —
As cm? 20.268
p — 0.00676
K — 0.360
C — 6.313
S — 11.221
X cm 10.801
oc N/mm? 5.25
s N/mm? 140.04
T N/mm’ 0.181
oca | N/mm’ 8.00
osa | N/mm? 180.00
Ta N/mm? 0.390

FORUMS8
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Qv | kN/m? 10.00
ho Qv vy m 0.556
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1 LA (Hs+ho) (Hs*+2 - ho - Hs)
MA=—+ vy +Ko- -+ < LAY + . 1A%
2 12 * n 3+*n 2
1 3. 200 ( 1.000+ 0.556)
= —+18.00+0.500 - { - + < 3,200°
2 12+ 1.032 31,032
( 1.000°+2 + 0.556 + 1.000)
.+ 3.200%}
2
=  159.61 (kN.m)
LA® (Hs+ho)
SA=—-+9y <Ko~ { -+ < LA + (Hs’+2 +ho + Hs) » LA}
2 3+n n
1 3. 200° ( 1.000+ 0.556)
= — -18.00+0.500 - { o - 3,200
2 3+1.032 1.032
+ ( 1.000°+2+ 0.556« 1.000) + 3.200}
= 145.97 (kN)
(2) FETEH
1
MB = YRR « Ko » (HB*+2 » ho + HB) « LB’
1
= 18.00 » 0.500 « ( 4, 100°+2 « 0.556 + 4.100) = 0. 800
= 30.77 (kN. m)
1
SB = PR « Ko+ (HB*+2 - ho - HB) + LB
1
= 18.00 « 0.500 « ( 4,100+2 « 0.556 + 4.100) - 0.800
= 76.92 (kN)

FORUMS8
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M kN._m 74.9
S kN 54.4
b cm 100.0
h cm 40.0
d cm 30.0
n — 15.0
Asr cm’ 15.554
mm D25 @250
D— @ —
As cm? 20.268
p — 0.00676
K — 0.360
C — 6.313
S — 11.221
X cm 10.801
oc N/mm? 5.25
s N/mm? 140.04
T N/mm’ 0.181
oca | N/mm’ 8.00
osa | N/mm? 180.00
Ta N/mm? 0.390
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h: = 0.300 (m)
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1
Sh = E; « (pl +p2) *h = 1.91 (kN/m)
1
MD = " +(2+pl +p2) +h’= 0.27 (kN. m/m)
@
S=SD=1.91 (kN/m)
M=MD = 0.27 (KN.m/m)
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M kN._m 0.27
S kN 1.91
b cm 100.0
h cm 40.0
d cm 30.0
n — 15.0
Asr cm’ 0.050
mm D13 @250
D— @ —
As cm’ 5.068
p — 0.00169
K — 0.201
C — 10.656
S — 42.315
X cm 6.035
oc N/mm? 0.03
s N/mm? 1.87
T N/mm’ 0.006
oca | N/mm’ 8.00
osa | N/mm? 180.00
Ta N/mm? 0.390
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Qv | kN/m? 10.00
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4.1.2
() BEH
1 LA (Hs+ho) (Hs*+2 - ho - Hs)
MA=—+ vy +Ko- -+ < LAY + . 1A%
2 12 * n 3+*n 2
1 3. 200 ( 1.000+ 0.556)
= —+18.00+0.500 - { - + < 3,200°
2 12+ 1.032 31,032
( 1.000°+2 + 0.556 + 1.000)
.+ 3.200%}
2
=  159.61 (kN.m)
LA® (Hs+ho)
SA=—-+9y <Ko~ { -+ < LA + (Hs’+2 +ho + Hs) » LA}
2 3+n n
1 3. 200° ( 1.000+ 0.556)
= — -18.00+0.500 - { o - 3,200
2 3+1.032 1.032
+ ( 1.000°+2+ 0.556« 1.000) + 3.200}
= 145.97 (kN)
(2) FETEH
1
MB = YRR « Ko » (HB*+2 » ho + HB) « LB’
1
= 18.00 » 0.500 « ( 4, 100°+2 « 0.556 + 4.100) = 0. 800
= 30.77 (kN. m)
1
SB = PR « Ko+ (HB*+2 - ho - HB) + LB
1
= 18.00 « 0.500 « ( 4,100+2 « 0.556 + 4.100) - 0.800
= 76.92 (kN)
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S kN 54.4
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h cm 40.0
d cm 30.0
n — 15.0
Asr cm’ 15.554
mm D25 @250
D— @ —
As cm? 20.268
p — 0.00676
K — 0.360
C — 6.313
S — 11.221
X cm 10.801
oc N/mm? 5.25
s N/mm? 140.04
T N/mm’ 0.181
oca | N/mm’ 8.00
osa | N/mm? 180.00
Ta N/mm? 0.390
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MA=—+ vy +Ko- -+ < LAY + . 1A%
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1 3. 200 ( 1.000+ 0.556)
= —+18.00+0.500 - { - + < 3,200°
2 12+ 1.032 31,032
( 1.000°+2 + 0.556 + 1.000)
.+ 3.200%}
2
=  159.61 (kN.m)
LA® (Hs+ho)
SA=—-+9y <Ko~ { -+ < LA + (Hs’+2 +ho + Hs) » LA}
2 3+n n
1 3. 200° ( 1.000+ 0.556)
= — -18.00+0.500 - { o - 3,200
2 3+1.032 1.032
+ ( 1.000°+2+ 0.556« 1.000) + 3.200}
= 145.97 (kN)
(2) FETEH
1
MB = YRR « Ko » (HB*+2 » ho + HB) « LB’
1
= 18.00 » 0.500 « ( 4, 100°+2 « 0.556 + 4.100) = 0. 800
= 30.77 (kN. m)
1
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4.2.3

M kN._m 74.9
S kN 54.4
b cm 100.0
h cm 40.0
d cm 30.0
n — 15.0
Asr cm’ 15.554
mm D25 @250
D— @ —
As cm? 20.268
p — 0.00676
K — 0.360
C — 6.313
S — 11.221
X cm 10.801
oc N/mm? 5.25
s N/mm? 140.04
T N/mm’ 0.181
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osa | N/mm? 180.00
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M kN._m 0.27
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h cm 40.0
d cm 30.0
n — 15.0
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mm D13 @250
D— @ —
As cm’ 5.068
p — 0.00169
K — 0.201
C — 10.656
S — 42.315
X cm 6.035
oc N/mm? 0.03
s N/mm? 1.87
T N/mm’ 0.006
oca | N/mm’ 8.00
osa | N/mm? 180.00
Ta N/mm? 0.390

FORUMS8
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